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NO. 32 0. 000 1.0
NO. 33 20. 000 1.0 1.00
NO. 34 20. 000 1.0 1.00
NO. 35 20. 000 1.0 1.00
NO. 35+01. 661 1. 661 1.0 1.00 1.7
NO. 36 18.339 1.0 1.00 18.3
NO. 37 20. 000 1.0 1.00 20.0
NO. 38 20. 000 1.0 1.00 20.0
NO. 39 20. 000 1.0 1.00 20.0
NO. 39+10. 550 10. 550 1.0 1.00 10.6
NO. 39+15. 000 4. 450 1.0 1.00 4.5
NO. 40 (}&R & &+ TET E) 5.000 0.0 0. 50 2.5
NO. 41 (}&R &k &T TET B) 20. 000 0.0 0.00 0.0
NO. 42 (}&R &k &t TET E) 20. 000 0.0 0.00 0.0
NO. 43 (}&R &k &+ TET E) 20. 000 1.0 0. 50 10.0
NO. 44 20. 000 1.0 1.00 20.0
NO. 45 20. 000 1.0 1.00 20.0
NO. 46 20. 000 1.0 1.00 20.0
NO. 47 20. 000 1.0 1.00 20.0
NO. 48 20. 000 1.0 1.00 20.0
NO. 49 20. 000 1.0 1.00 20.0
NO. 50 20. 000 1.0 1.00 20.0
NO. 51 20. 000 1.0 1.00 20.0
NO. 52 20. 000 1.0 1.00 20.0
NO. 53 20. 000 1.0 1.00 20.0
NO. 54 20. 000 1.0 1.00 20.0
NO. 55 20. 000 1.0 1.00 20.0
NO. 56 20. 000 1.0 1.00 20.0
NO. 57 20. 000 1.0 1.00 20.0
NO. 58 20. 000 1.0 1.00 20.0
NO. 59 20. 000 1.0 1.00 20.0
NO. 60 20. 000 1.0 1.00 20.0
NO. 61 20. 000 1.0 1.00 20.0
NO. 62 20. 000 1.0 1.00 20.0
NO. 63 20. 000 1.0 1.00 20.0
NO. 64 20. 000 1.0 1.00 20.0
NO. 65 20. 000 1.0 1.00 20.0
NO. 66 20. 000 1.0 1.00 20.0
NO. 67 20. 000 1.0 1.00 20.0
NO. 68 20. 000 1.0 1.00 20.0
NO. 69 20. 000 0.0 0.50 10.0
NO. 69+6. 661 6. 661 0.0 0.00 0.0
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L UREEE (A4 : No. 35~No. 69+14. 0]

LERET
AlA TR _
57| 1R& (FRAITMARTEMLIR t=8cm)

NO. (m) FHyig X% E (m2)
35+0.0 - 4. 300 - -
40+12.5 112. 500 4. 300 4. 300 483.75
42+7.6 - 4. 300 - -
43+2.5 14. 900 4. 300 4. 300 64.07
43+12.5 10. 000 6. 300 5. 300 53.00
44+7.5 15. 000 6. 300 6. 300 94.50
44+17.5 10. 000 4. 300 5. 300 53.00
65+15.0 417.500 4. 300 4. 300 1795. 25
66+10.0 15. 000 6. 300 5. 300 79.50
67+0.0 10. 000 6. 300 6. 300 63. 00
67+10.0 10. 000 4. 300 5. 300 53.00
69+8.0 38. 000 4. 300 4. 300 163. 40
N E 652. 900 2902. 47

=it 652. 900 2902. 47
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L UREEE (A4 : No. 35~No. 69+14. 0]

TREET RERE

= TR B B

447 [=]-] (B&EY799%-7v t=Tlom) EE (EEEE)

NO. m Fi90E | REISE m2) FHE | RE%E )
35+0.0 - 4.500 - - 5.210 - -
40+12.5 112. 500 4.500 4.500 506. 25 5.210 5.210 586. 13
42+7.6 - 4.500 - - 5.210 - -
43+2.5 14.900 4.500 4.500 67.05 5.210 5.210 77.63
43+12.5 10. 000 6. 500 5.500 55.00 7.210 6.210 62.10
44+7.5 15. 000 6.500 6. 500 97.50 7.210 7.210 108. 15
44+17.5 10. 000 4.500 5.500 55.00 5.210 6.210 62.10
65+15.0 417.500 4.500 4.500 1878.75 5.210 5.210 2175.18
66+10.0 15.000 6. 500 5.500 82.50 7.210 6.210 93.15
67+0.0 10. 000 6.500 6. 500 65. 00 7.210 7.210 72.10
67+10.0 10. 000 4.500 5.500 55.00 5.210 6.210 62.10
69+8. 0 38. 000 4.500 4.500 171.00 5.210 5.210 197.98
IhF 652. 900 3033. 05 3496. 62

25t 652. 900 3033. 05 3496. 62
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TERET
AlA EE
57| 1RA (FAITMNREALER t=8cm)

NO. (m) Fiig X% & (m2)
35+0. 0 - 4. 050 - -
40+12.5 112. 500 4. 300 4.175 469. 69
42+7.6 - 4. 300 - -
45+2.5 54. 900 4.300 4. 300 236. 07
45+12.5 10. 000 6. 300 5. 300 53.00
46+7.5 15. 000 6. 300 6. 300 94. 50
46+17.5 10. 000 4. 300 5. 300 53.00
65+15.0 377.500 4. 300 4. 300 1623. 25
66+10.0 15. 000 6. 300 5. 300 79.50
67+0.0 10. 000 6. 300 6. 300 63. 00
67+10.0 10. 000 4. 300 5. 300 53.00
69+8.0 38.000 4.300 4. 300 163. 40
N E 652. 900 2888. 41

it 652. 900 2888. 41
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TYHREEE [K# : No. 35~No. 69+14. 0]

TRERET TEEEIE

s EE

37| 1EE (BEY94-5v  t=T1cm) 28 (&)

NO. (m) e RE#E (m2) e RE#E (m2)
35+0.0 - 4. 250 - - 4.960 - -
40+12.5 112. 500 4.500 4.375 492.19 | 5.210 5.085 572.06
42+7.6 - 4.500 - - 5.210 - -
45+2.5 54.900 4. 500 4. 500 247.05 | 5.210 5.210 286.03
45+12.5 10. 000 6. 500 5. 500 55. 00 7.210 6.210 62.10
46+7.5 15. 000 6. 500 6. 500 97.50 7.210 7.210 108.15
46+17.5 10. 000 4.500 5. 500 55.00 | 5.210 6.210 62.10
65+15.0 377.500 4. 500 4. 500 1698.75 | 5.210 5.210 1966. 78
66+10.0 15. 000 6. 500 5. 500 82.50 7.210 6.210 93.15
67+0.0 10. 000 6. 500 6. 500 65. 00 7.210 7.210 72.10
67+10.0 10. 000 4.500 5. 500 55.00 | 5.210 6.210 62.10
69+8. 0 38.000 4. 500 4. 500 171.00 | 5.210 5.210 197.98
nE 652. 900 3018. 99 3482. 55

REt 652. 900 3018. 99 3482. 55
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i R vl Hra i sy it &
35 + 0.00

~ 35 +  19.70 | & 19. 7 36 + 0.00 | #= 9.4
36 + 0. 30

~ 39 +  18.30 i 77.5 39 +  18.50 y 6.9
42 +  18.70

~ 46 + 7. 20 i 68. 6 46 + 7. 50 y 4.1
46 + 7.80

~ 49 + 9.10 i 61.4 49 + 9. 40 y 2.9
49 + 9. 60

~ 53 +  14.70 i 84.9 53 +  15.00 y 5.1
53 +  15.20

~ 56 +  19.70 i 64. 4 57 + 0. 00 y 6.6
57 +  13.80

~ 62 +  19.70 i 119.2 63 + 0. 00 y 11.8
63 + 0. 30

~ 67 +  12.20 i 92. 1 67 +  12.50 y 15. 6
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~ 68 + 9. 80 i 17.0
= 7 604.8 m & B 62. 4
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No. 46+ 7.50 U 1.0
No. 49 + 9. 40 U 1.0
No. 53 +  15.00 U 1.0
No. 57 + 0. 00 U 1.0
No. 63+ 0. 00 U 1.0
No. 67 +  12.50 U 1.0
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o

o

b1 B b1
B2,L2
B1
b1‘ B ‘b1
A | | | IS
J V/ o B, L 0.500 | 0.500
B1,L1 | 0.800 | 0.800
o - B2,L2 | 1.800 | 1.800
710 =| ,
750+150 L = bl 0.150 | 0.150
O J 50 b2,12 | 0.900 [ 0.900
v %2 b3,13 | 1.800 [ 1.800
v FR¥E190 [ ¥ = H 0. 500
‘ ‘ H1 0. 750
450 b2 (12) 450 H2 0. 900
b3 (13) hl 0. 150
RN o | e
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X ( 0.50 + 0.14)) x 0.10)) X 10 m3 3.1
AU ((C 0.50 + 0.15 X 2 ) X 0.75 ) X 2
+ ((0.50 + 0.15 X 2 ) X 0.75 ) X 2
+ 0.50 X 0.75 X 2 + 0.50 X 0.75 X 2 ) X 10 m2 39.0
YEE LT (PkEiEMIEE L T ~F 1)
(R#ED) 0.90 X 0.90 X 0.19 X 10
m3 1.5
(L& IE) 0.90 X 0.90 X 10 m2 8.1
MREL) FERID — X X + % ) X 10 )| m3 0.0
% - eg) 1.5 — 0.0 x 1/0.9 m3 1.5
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3 5 + 14.2 [~ 65 + 15.0 | ~ 180. 3|imAKR X 4E 2K
41 31 + 13.9 [~ 40 + 1.7 & 175.5|imAKR X 4E 2K
5| 44 + 11.5 |~ 56 + 8.2 | n 231. 4[iEKRXHE 2K
6 | 56 + 14.2 |~] 65 + 15.0 | » 180. 3|imAKR X 4E 2K
NG 1123. 1
=k 1123. 1
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% it %

15 B it ¥k Hif| % = ¥
2 T RAI77ILbEE |ZHEASIDREIE t=40mm| m? 162.8
5 T RIT7ILEEE | BHEASI3) t=40mm | m’ 162.8
HEaHY—F 0 ck=18N/mm2 m? 15.9
T HEFZXT7ILE |FHEASII FiHt=17Tmm| m’ 146.9
;] 7K & —r%R m? 165.0
B AINAT I INAT b18 m 29.2
AT FKFL—Yv #H 2
" ILFSITNFa—7 m 26
B & £ & #H 4
B O OB # # m 56.4
- m A OB i o m 56.4
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0

1008

Ea.lﬁ!a&

Wr m
X RAEHTER Hh e AE AT ED
9410
45 8500 45
4250 4250

AEILIU—F

(GHETRAT7ILH)

i=2. 00%

W1

B1

1 AHPCHA & Y 4% 1517.8

HE DR

FARAI 7L hEhE
(t=80mm)
REFHAS(13)HETE t=40mm

HE B HIAS(13) t=40mmﬁ

1000 5

ERR LR

HRAHPCH & Y #% 1521.8

(SWPR19)

(SWPR19) W
THTHEMTAE i=1.997% o
4
801020=8160 B2
#if 19900
XME 19200
1081920=19200

455

4250

9410
8500

4250

83

80 83 90

A55

/ / / / /
c3 Cc4 c5 C6 c7
960 _/ 960
oX]
FRI7ILLGEE
8| x2
%Jﬂg:yau—FN WETRIAL
X1 FRI7ILMGHEORNE
X2 WEILU— FORME
HEETER (mm)
GE1 | S1 C1 G2 C3 C4 Ch C6 C7 C8 C9 S2 | GE2
t1 [ 146 | 141 ] 119 | 102 | 90 83 80 82 90 | 102 | 119 ] 141 | 145
t2 | 146 | 141 ] 119 [ 102 | 90 83 80 83 90 [ 102 | 119 ] 141 | 146
t3 | 146 | 141 ] 119 | 102 | 90 83 80 83 90 [ 102 | 119 ] 141 | 146
H1 [1160] 1155] 1133 1116|1104 1097]1094 {1096 1104] 1116|1133 | 1155] 1159
H2 [1142]1137]1115[1098| 1086 1079] 1076|1079 1086] 1098 | 1115{ 1137| 1142
£ K LL = 19.900 — 0.350 x 1.064178 x 2 = 19.156 m
HiEEER #
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1) ZAI7IL g%
BHEE  ( t=80mm ) A = 8500 x 19.156 = 162.826 m

2) @/EaLHY—Fk  ( ock=18N/mm’ )

GE1 | si c1 c2 | c3 | ca | o5 | c6 | c7 | c8 | co S2 GE2 | &5t
A= m 0.000| 0.938] 0.960] 1. 920 1. 920] 1. 920| 1. 920| 1. 920] 1. 920] 1. 920 1. 920| 0. 960| 0. 938] 0. 000| 19. 156
= m 4.250 | 4. 250 4.250 | 4.250
miE |m? 0.000 | 3.987 3.987 7.974
? t1-80 [mm 61 50 50 | 61
{81 t2-80 [mm 61 50 50 61
FIHE |mm 56 56
wE [ 0. 223 0.223 0.45
= m 4. 250 4. 250 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 0. 000 4. 250 4. 250 0. 000
HiE |n? 0.000 | 3.987 3.987 7.974
g t2-80 |mm 61 50 50 61
18 t3-80 |mm 61 50 50 61
FEHE |\mm 56 56
A |md 0.223 0.223 0.45
X1 BEILY U — OBINERSmMET S X2 FHEOHEEEHAROIBOTHEET S
(EEER)
A = 7.974 + 17.974 = 159
V = 0.45 + 0.45 = 0.9 m

3) BABTFRIFIFE

GE1 S1 C1 Cc2 Cc3 c4 C5 C6 c7 c8 C9 S2 GE2 & &t
AT m 0.000[0.938[0.960]1.920[1.920|1.920|1.920[1.920]|1.920]1.920[1.920[0.960]|0.938|0.000[19. 156
= m 4.250]14.250]4.250]4.250]4.250|4.250]4.250|4.250[4.250]4.250]4.250
[T m? 4.080 [8.160 | 8.160 | 8.160 [ 8.160 | 8.160 | 8.160 | 8.160 | 8.160 | 4.080 73. 440
? t1-80 |mm 50 39 22 10 3 0 2 10 22 39 50
18 t2-80 |mm 50 39 22 10 3 0 3 10 22 39 50
FIHE |mm 45 31 16 7 2 1 6 16 31 45
FE |md 0.184 | 0.253 | 0.131 | 0.057 [ 0.016 | 0.008 | 0.049 | 0.131 | 0.253 | 0. 184 1. 265
= m 4.250]4.250]4.250]4.250]4.250|4.250]|4.250|4.250[4.250]4.250]4.250
m i m? 4.080 [8.160 | 8.160 | 8.160 [ 8.160 | 8.160 | 8.160 | 8.160 | 8.160 | 4.080 73. 440
g t2-80 |mm 50 39 22 10 3 0 3 10 22 39 50
11 t3-80 [mm 50 | 39 22 10 3 0 3 10 | 22 | 39 50
FEHE |mm 45 31 16 7 2 2 7 16 31 45
#FE nmd 0.184 | 0.253 | 0.131 | 0.057 [0.016 | 0.016 | 0.057 | 0.131 | 0.253 | 0.184 1.281
X1 ARFTRI 7 FORKEEOME T S X2 THEOHERFEHEZOMEDOFEHELETS S
(EEH)
A = 73.440 + 73.440 = 146.9 m?
V = 1.265 + 1.281 = 25 m
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2.5 Kk T

&
#i% 19900
- %3/72 BikEER EEE 19156 (%72
KR B i 18400 150
257 FL—UREBERE, 9520 9750 64d

RIS ILIL T 18 AS5TRL—Y HEK ¥t
@)

5 #1we

350

7, WiKRE |

(v—F%)

9410
8500

3 AR A0 IR A1

(—F%R)
1 BKE ( o2—FF )
A = 162.826 + ( 8.500 + 19.156 ) x 2 x 0.040 = 165.0 m
WETLY
2) RIS FILIsA T ( ¢18)
L = 8500 x 1.0642 x 1 4+ 19.15 x 1 4+ 0.960 = 29.2 m
e
3) RSTKL—>
N = 2 #H
4) JLFx T INFa—7J
1260
75 ggég 25 RIS FILIA4 T $18 216,744
Bk B B iEHEF
Vo

RIS N84 T $18 Bk & #Ea o Y—b [ I
(—F+HR)
L - s

(v—+ )
680 ¥

mt£E @ AS5TKRL—2 IJLEFVINLFa—7T

FLEYINFa—T =200
(L=1300)

L = 1.300 m/mm x 2 (&7 = 2.6



5 HmftE&

AT&L ﬁS W=
C\f* BDewri—ILLA T H— M2
U | Fraxsosn
Q
g8 =1
om0
1 - PL 50x3.2x200 0.25 kg
2 -FR—IAT7h— M2
1#2Y 0.25 kg
6) RLE!E MM
L = 8500 x 1.0642 x 2 4+ 19.156 x 2
#
7) tEERE HhALIE
L = 8500 x 1.064 x 2 4+ 19.156 x 2
#

4 #8 x

0.25

kg/#8 =

1.0 kg

56.4 m

56.4 m

3b
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E & & %
E 1 Al HBi| A1BE|A21BE|E & &

avsy—+k o ck=24N/mm2 m° 25.10 25. 44 50. 54
CL SREEIEY m® 7.8 7.9 15.7
D25 t 1.710 1.732 3. 442
D22 " 2.749 2.791 5. 540
% W (SD345) D13 " 0. 290 0. 288 0.578
D10 " 0.010 0.010 0. 020
&it " 4.759 4. 821 9.580
= bt N £=20mm m? 6.2 6.3 12.5
t=10mm " 1.5 1.5 3.0
. B=200mm, t=20mm, L=8909mm ® 1.0 - 1.0
B TLE B=200mm, t=20mm, L=8949mm " - 1.0 1.0
HRE TRAF Y HEEEETM A 18 18 36
# E $60x4.0 ke 1.598 1.598 3.196
b e m 7.5 7.6 15.1
B A N— D22, L=1.00m ke 21 21 42
HaR/N— D13, L=6. 00m " 24 24 48
Fr7— D13, L=0. 90m " 6 6 12
fit B o BWIEDHRA 2+ L 7 7 14
SEA B4t 7 A 5 RE-LM g 3471 3514 6985
759 HEM H=50 m 7.5 7.6 15.1
B, $80 |BEF 16 17 33

22 AR
BREER, 65 " 8 8 16
PRAET RC-40 t=150mm m? 62.7 63.6 126.3
TREEIE WRERMAEL m® 62.7 63. 6 126.3
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A 1BSEMET M AUBEBEIRGRERO - L,
(1) 227 U—F ( o ck=24N/mm* )

vl= 10.291 X 7.307 X 1/2

v2= 10.291 X 4.886 X 1/2

V= (37.598 + 25.141 )X 0.400

(2) B #  ( SHHEEY )
A= ( 4.110 + 8.381 + 7.072 )X 0.400

(3) & ( SD345 )
D25 .. 1.710 t
D22 .. 2.749 t
D13 .. 0.290 t
D10 .. 0.010 t
& 7 4.759 t
(4) HHiss (=A% AF)
t=20mm
A= 8.910 X ( 0.400 + 0.300 )
t=10mm

A= ( 1.890 + 1.891 )X 0.400

(5) =A% ( B=200mm , t=20mm , L=8909mm )
N= 1.0

(6) wAF v 7 REHEBEHAMAY B AL T ( 40A )
N=  18.0

(7) *vv7 (¢ 60x4, N=18f#)
W= 0.060 *x 7/4 X 0.0040 X 7850 X 18

(8) fitE Hh
L= 7.481
c B A N— ( D22 )
W= 1.000 X 3.040 X 7
s AN— (DI3)
W= 6.000 X 0.995 X 4
«Fx=T7—  (DI3)
W= 0.900 X 0.995 X 7
cFHIEDANA b (HF A SRR 10emEBAR)
N:
< FE B HiRS
W= 4.0 X 0.8 X T48.1 X 1.45 g/enm’
< T T UM ( H=50 )
L= 7. 481
(9) ZEimeRRFL (FEHS. ¢ 80)

N= 16

(10) ZE{fERRFL (BEIHER. ¢ 65)
N= 8

(11) ¥AET  t=150mm
A= ( 37.598 + 25.141 )

(12) REEFIE
A= ( 37.598 + 25.141 )

= 37.598 p?
= 25. 141 p’

= 25.10 p’

= 7.8m2

= 6.21112

= 1.51112

= 10

= 18.0 #
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A 2 BSEMET M AUBAHBIRR RSB - L,

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(1)

(12)

aryyy—h ( o ck=24N/mm* )

vi=  10.344 X 4.877 X 1/2 = 25.224 p’
v2= 10.344 X 7.421 X 1/2 = 38.381 p?
V= ( 25.224 + 38.381 )X 0.400 = 25.44 o’

BoM ( EEY )

A= ( 4.101 + 8.409 + 7.248 )X 0.400 = 7.9
L] ( SD345 )
D25 ... 1.732 ¢
D22 2.791 t
D13 ... 0.288 ¢t
D10 . 0.010 t
& Bt 4.821 t
H ks (=A% A )
t=20mm
A= 8.948 X ( 0.400 + 0.300 ) = 6.3’
t=10mm
A= ( 1.899 + 1.898 )X 0.400 = 1.5p
= A ( B=200mm , t=20mm , L=8949mm )
N= 1.0 = 1.0k
v AT I RREGHEFTM A T AL T ( 40A)
N=  18.0 = 18.0#f

Xy v (¢ 60x4, N=18f#)

W= 0.060 %2x x/4 X 0.0040 X 7850 X 18 = 1.598 kg
fhe H H
L= 7.573 = 7.6m
c B A N— ( D22 )
W= 1.000 X 3.040 X 7 = 21 kg
-« r7maAN— (D13 )
W= 6.000 X 0.995 X 4 = 24 kg
«F=7— (DI3)
W= 0.900 X 0.995 X 7 = 6 kg
cFHIEDANA b (HF A SRR 10emEBAR)
N= = 7 1%
< FE B HiRS
W= 4.0 X 0.8 X 757.3 X 1.45 g/cn’ = 35ldg
< T T UM ( H=50 )
L= 7.573 = 7.6m

ZefAmERRIL (BERR. ¢ 80)
N= 17 = 17 14

2B AL (BSJEHR. ¢ 65)
N= 8 = 8 fal

AR T t=150mm

A= ( 25.224 + 38.381 ) = 63.6n’
KB
A= ( 25.224 + 38.381 ) = 63.6n°
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1. A1BEBREEHR

T it filt il Bt il Hi & HAAT =4 fii
BB
a7 Y—Fh o ck=24N/mm’ 5 17. 16
A B ¥ 4. 88
B O L D29~D32 SD345 kg
D16~D25 SD345 kg 1,683
D13 SD345 kg 631
D10 SD345 kg 8
& 3 SD345 kg 2, 322
= A 200X 20 n’ 1.43
BRI SGP40A kg 11
Xx v/ PL$60X3.2 kg 1
H o # RIS ENLN £=20mm n’ 4. 86
s v A t=10mm n’ 2.29
FetH il n’ 0. 003
FEABHES | iRE20mm X % & 40mm m 7.2
118 10mm X 742 X 40mm m 7.0
% T t=15cm n’ 39. 47
R B #& IE T 7 L n’ 39. 47
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(N W K & Ot K ¥ &
WS BRIl
(1) 2/7)-h (o ck=24 N/mm’)
7.150 x  6.000 x  0.400 17.16
s 17.16
(2) Hp (2.520 + 2.520 ) x  0.400 2.02
7.150 x  0.400 2.86
A 4.88
(3) #mL (SD345)
D16~D25 1683 kg
D13 631 kg
D10 8 kg
& 3 2322 kg
4) T2z (200<20)
A = 0.200 x 7.150 1.43
(5) HAE (SGP40A X 200)
W= 380 % 0200 x 14 11 kg
(6) T/h%ry7 ($60Xx3.2)
W = 0.060 x 0.060 x 0.0032 x 7850 x 14 1 kg
(7) B Hibt (BtHEZEVAMA  t=20mm)
A = (0.380 + 0.300) x 7.150 4.86 p?
(BHAEFE VA t=10mm)
A = 3.480 x 0.329 x 2 2.29
S A 7.15
(8) FesE B fibbs ( ©/4 X 0.0416 "% 0.200
—  x/4 X 0.022 . 150 ) x 14 0.003 p*
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5l X & o O %

CORREVNISE: ik %)

fg 20mm X EEX 40mm L = 7.2
fg 10mm X EEX 40mm L = 7.0
(10) BT t=15cm
5.520 X 7.150 = 39. 47
A = 39. 47

(11) RpEEEIE A =] 39.47




